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REASONING ABILITY

1. How many such pairs of letters
are there in (he word TRANSFER
each of which has as many let-
ters between them in the word
as in the English alphabet ?

{1} None  [2) One
{31 Two [4) Three
{5) More than three

2. Dissister of . M is brother of F.
K is brother of D and son of 1. R
is wife of T. How is F related to
T?

(1) Son (2) Daughter
(3) Son or daughter

(4) Data lnadequate

(3) Nane of these

3. The positions of how many digits
in the number 8359614 will re-
main unchanged after the digits
are rearranged in descending or-
der within the number ?

(1) None (2)One
(3) Two (4} Three
(5) More than three

4. Inacertain code 'STAGE' Is writ-
ten as '4@359" and ‘EARN' {s wril-
ten as '9©87", How is 'NEST writ-
Len in that code?

(1) 497@ (2} 794@
(3) a©79 (4) 79@©
{5) None of these

8. In a certain code TRILOGY Js
written as HQSMXFN. How is
CREDITS written in that code ?
(1) DOBERSH (2) FSDOTUS
(3) DQBETUJ (4) FSDCRSH
(5] Nomne of these

Directions (6-1G) « Study the fol-

lowing arrangement carefully and an-

swer the questicnis given below :
H3SEKS@M%IB2TAFG6

WI@NVX*xFAQSRDZ

8. Fourof the following five are alike
In a certain way based on their
positions in the above arrange-
ment and so form a group. Which
is the aric that does not belong
tathat group ?

(1) FAW (2) NO*
(3) 4P (4) M@t
(5) SEH

7. How many such symbols are there
In the above arrangement each
of which is immediately preced-
ed by a number and immediately
[ollowed by a letter ?

{1} None {2) One
(3} Two (4) Three
(5) More than three

8. Which of the (ollowing Is the fifth
10 the left of the sixteenth from
the Il end of the above arrange:

ment ?

(2 2)©
(3 8 (456
{5) None of these

8. If all the symbols and numbers
" are dropped from the above ar-
rangement which of the {ollow-
ing will be (he fourteenth from

the right end?
mT 2) K
{3 N AN

{5} None of these
10. How many zuch numbers are
tivere i1 the above arrangement
each of which is Immediately pre-
ceded by a letter but not imme-
diaiely followed by a letter?
(1) None (2) One
2y Two {4) Three
(5) More than three
Directions (11-18}: In these ques-
tlons, certain symbols have been used
to indicate relationships between cle-
ments as follows :
‘P © Q" means 'P is neither greater
than nor equal to Q'.
‘P 8 Q" means 'P Is neithrr amaller
than nor equal to @', ;
'P @ Q' 'means ‘P is not smaller than
Q.
‘P % Q" means 'P is not greater than
Q.
‘P % Q" means ‘P is neither greater
than nor smaller than Q.
In each question, four statements
showing relationships have been giv-
en, which are followed by three con-

clusions 1, I and III. Assuming that
the given statements are true; find out
which conclusion(s) is/are definitely
true ?
11. Statements :
RRHT, TOK KSM. M@V
Conculsions : . M®T '
I. R&K
mKsv
(1) None is true
(2) Only I and 11 are true
{3) Only 1I and 111 are true
(4) Only I and IIl are true
(5) All I, II and 111 are true
Statements :
WSESNNORR@K K%F
Conculsions : . F%R
1. RSW
HNLN®K
(1) None is Lrue
(2) Only 1 1s true
(3) Only 11 is true
(4) Only 111 is truc
(5) Only IT and 111 are true
13. Statements:
F@MM%BW WSR ROV
Conclusions : |. VS M
1. F8§ W
M.R@©F
(1) None is true
(2) Only I Is true
(3] Only 11 1s true
(4] Only Il is true
(5) Only I and Ul are true
14. Statements:
BSDDOM MWK KOR
Conclusions : |. RSM
iI. K@D
INn.BSM™M
{1) Only I and Il are true
(2) Only I and il are true
{3) Only {I and Ul are true
f4) All 1, I and [I] are true
{5) None of these
15. Statements: -
N@WWxK K@V, VEF
Conclugions : I, K% N
0l K@N
HLFOW

12.
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{1) Only [ is true

(2] Only I is true

{3] Only I} 1s true

{4} Only either ] or Il is true
(5] None of these .

Directions (16-20) : Study the fol-
lowing informatlon carefully and answer
the questions given helow ;

F. G R 8 T V. Wand Z are sitting
around a circle facing the centre, S is
second to the Tight of V who is third to
the right of T. Q is second to the left of
T and fourth Lo the right of Z. W is
third to the right of P who Is not an
immediate neighbour of T.

18.  Four of the following five are alike
* in a certain way based on their
positions in the above arrange-
ment and so form a group. Which

is the one that does not belong to

that group ?
{1} ZRV {2) SPQ
(31 VZP {4) TWR
{3} QWT
17, Who is to the immediate left of
wW?
(1 g @T
31 &

{4] Data inadequate
(5] None of lhese

18, Wha is second te the left of R?
1T 2 Q
@) w

(4) Data inadequate
{5) None of these

19. Who is fourth to the left of P?
()R 2 z
(3} W 4T

(5) Data inadequate

In which of the following pairs {s
the first person sitting to the im-
medinte right of the second per-

son?

(1] SQ (2) TW
(3) ZV (4) BS
o QW

Directions (21-28) : Study the {ol-
lowing inforrnation carefully and answer
the questions given below :

Following are the conditions for se-
lecting Manager - Accounts in an or-
ganisation.

The candidate must :

‘() be atleast 28 years and not more

than 33 years as on 01.06.2010.

(li) be a graduate with at least 55
perceni marks,

(iif] be a post graduate degree/diplo-
ma helder in financial management
with atleast 60 percent marks.

'

(v} have post qualification work ex-

perience of at least seven years in the
Finanee department of an organisation.

[v] have secured 40 per cent marks
in the personal interview,

In the case of a candidate who satis-
fies all the conditions EXCEPT ;

{A) at (iii) above but has completed

CA/ICWA/CFA after his/her gradua-

tion, the case Is to be referred to Ex-
ecutive Director - Finance.

(B} at (v} above but has secured at
Jeast 35 per cent marks in the person-
al interview and at least 65 per cent
marks in graduation, the case is Lo be
referred to General Manager— Finance.

In each question below are glven
details of one candidate. You have to
take one of the lollowing courses of
action based on the information pro-
vided and the conditions and sub-ccn-
ditions given above and mark ihe num-
ber of that course of action as your
answer. You are not to assurne any-
thing other than the infoermatiou pro-
vided in each question. Ali these cases
are given to you as on G1.06.2010.

Mark answer {1) {{ the case is to be
referred to Executive Director ~ Fi-
namnce. -

Mark answesr (2] i Lhe case is to be
relerred to General Manager - Finance.

Mark answer (3) if the candidate is
Lo be selected.

Meazk answer (4] if the candidate is
not to be seiected.

Mark answer (5) if the data provid-
ed are not adequate to take a decision.

*1. Subodh Saha has been working

in the finance department of an
organisation for the past seven
years after completing his post
~rduate degree in Financial Man-
agement with 60 per cent marks.
He has secured 53 per cent
marks in graduation and 40 per
cent marks in the persenal inter-
view. He was born on 8th May,
1984,
Abhiram Gupta was born on 8th
July 1980. He has been working
in the Finance department of an
organisation for the past nine
years after completing his post
graduation degree in financial
management with 68 per cent
marks. He has secured 37 per
cent marks in personal interview
and 70 per cent marks in gradu-
ation. \

22,

23. Suchitra Kulkarni has been work-
.Ingin the finance department of
an organisation for the pasl eight
years. She was born en 12th
April 1979. She has secured G5
per cent marks in both gradua-
tlon and post graduate diploma
in financial management. She has
also secured 50 per cent marks
in persenal interviesy.
Atul Sangma was born o 24th
March 1980. He has secured 45
per cent marks In the personal
Interview and 60 per cent marks
in graduation. He has been work-
ing In the Finance department of
an organisation for the past sev-
en years after completing his post
graduate degree In Financial Man-
agement with 65 per cent marks.
. N¢ha Juneja was born on 4th
September 1981. She has been
working in the Finance depart-
ment of an organisation for the
past eight years after completing
her [CWA after obtaining 58 per
cent marks in graduation. She has
secured 48 per cent marks in the
personal interview,

=

Ind
[+

NUMERICAL ABILITY

Directions (26-35) : What should
cmne in place of the question mark {7}
in the following questions ?

26. 99+ 9+05=7

(1) 5.5 2} 11

(3) 4.5 4] 22

{5) None of these

27. 818 x 6436 + 5121 = 8
(1} 5.8 (2) 14.2
(3) 8.6 (4) 9.2

(5} None of these

28. 24% of 550 - 7% of 124 = 76.2
(1) 45 (2) 30
(3) 80 4 35

(5] None of these

20, 245 %454 x2.5="7
(1) 2880.25 (2} 2780.75
[ 2770.75 (4) 2870.25
[3) None of these

30. 326% +9=2
(1) 84.5 (2) 24.75
(3 36.25 4) 725

{5} None of these

31. 25 x ?=824.2
(1) 333.86 (2) 329.68
(3) 337.46 (4} 324 48

(5) None of these
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416 x 18 - 2288 =7

{1) 5202 (2] 5000
i3 5205 {4} 5002
{5} None of Lhese

. DA% o 675 =7

{1) 307.5 (2} 346.5.

(3) 3705 (4) 364.5

(5) None of these

B88.88 + 684,48 + 72666 = ?
(1) 2230.02 {2} 2030.02
{3} 2003.02 [4) 2302.02
(5) None of these

. 3960 + (48 x 2.5) =7

(1) 206.25 (2) 42
(31 33 {4) 260.25
{5) None of these

. A car covers a distance of 720

kms. in 12 hours, What is the
average speed of the car?

(1) 80 kmph {2} 40 kmph

(3) 55kmph  (4) 75 kmph
(5] None of these

37. The owner ol a (urniture shop

charges his customer 18% more
than the cost price. Il a4 custom-
er pald Rs. 10,207 for a dining
table, then what was the original
price of the dining table 2

(1) Rs 9,240 (2) Rs.8,650

(31 Rs.9.840  (4) Rs.7,670

{(5) None of these

38. The averagr age of a man and his

son is 30 vears. The ratio ol their
ages is 4 : 1 respectively. What
Is the son's age?

(1} 12 vears (2) 14 years

(3) 16 years 4] 24 years

{5) None of these

What is the least number to he
added Lo 2400 to make it a per+

.fect sguare?
{11 100 2} 191
(3) 201 (4196

{5) None of these

What would be the vompound
interest ohtained on an amcunt
of Rs. 2,840 at the rate of 15
p.c.p.a. after 2 yvears?

(1) Rs. 905.5/ {2) Ra, 951.5
(3} Rs. 928.9 " (4} Rs. 915.92
(5) None of these

41. The product of two conserutive

odd numbers is 2303. What is
the greater number?

(Vi a5 (2} A7
(3! 51 {4) 49 o

{5) None of these

. The gifference hetween 31% afa

number and 1% of the same

43.

44.

number is 360. What is 23% of
that number ?

(1) 426 (2) 414

(3) 408 {4) 432

{5) None of these

A canteen requires 22 dozen ap-
ples for seven days. How many
dozen apples will it require for

336 days ?
(D 1104 2) 1128
(3) 1056 (4) 1047

(5) None of these

In an examination it Is required
to get 760 of the aggregate marks
to pass. A sturdent gets 700 marks
and is decclared falled by 4%
marks. What are the maximum
asgregate marks a student can
get? ,

(1) 1050

2} 1140

(3) 1250

(4) Caunot be determined

(5) None of these

48. The cost of 4 walches anﬂ 2 lock-

els Is Rs.1 0,800. What is the
cost of 6 watches and 3 lockeis 2
(1) Rs. 18,400

(2) Rs.15 850

[3) Rs.12,600

{4} Cannot be determined

(5) None of these

Directions (48-50) : Study the fol-
lowing rable carefully and answer the
aquestions thay follow :

Number of people (in hundreds)
ra¢ruited by six different organisa-
tions over the years.

'i)rgnu-;usmjr Al|B|C | D|EIF

P‘;(..'-:l_l'-_‘_-

2004 1.812.1]11.5{1.9]2.112.6
2005 2.411.3/11.8]1.6|2.6|2.4
2006 1.312.4]11.9(2.3]2.8|2.7
2007 2.2|2.5|2.212.0(2.2]2.6
2008 2 11.612.4]1.512.4]1 4]
2000 1.9)1.7[2.6[1.9(2.5]1.5

48, In which organisation dld the

47.

number of people heing recruit-
ed increase cach vear?

1) A [2) B

(3 C (4D

[5) Nornie of these

Whal is the respective ratin be-
tween the total number of people
recruited by organisation A in the
years 2008 and 2009 {ogether Lo
those recriaited by organisation F
in the years 2004 and 2005 to-
gether? ,

48.

498.

(7:6 (25:4
(35:7 M4:5

(5) None of these "
Number of people recrutied by
organisation K in theyear 2007
is approximately what percent
of the total number of peopie re-
cruited by that erganisation over
all the years tegether

(1ns 2) 15
(33 (4) 25
(5] 28

What is Lhe Lotal number ol peo-
ple recruited from all the orgari-
sationhs together in the year
2005 7

{1} 1990 (2} 1230

{3) 1240 [4) 1200

{5) None of these

. What is the percent increase in

the number of people recruited
by organisation D in the year
2006 Irom the previous year ?
(1) 43.75 (2) 38.25

{3} 45.75 {4} 46.25

[5) None of these

GENERAL KNOWLEDGE &

CURRENT AFFAIRS

51.
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Which of the [ollowing Lypes of
companies/organisations issue
'ULIP'? (The ULIPs were recently
in news)

{1} Insurance companies

(2) Banks

(3) NABARD

(4) RBI

(5) All of these

. Insurance business in India is

regulated by which of the follow-

ing authorities?

(1) NFCG

(3 cn

(5} All of these

Which amongst the Jollowing is

NOT an insurance corapany func-

tioning in India?

(1) ICICI Prudential

{2} ING Vysya

(3) ICICI Lombard

(4) New India Assurance Compa-
Ty

(5) National Securities Deposito-
ry Ltd.

Which of the following is the noly

public sector company in the field

of Hfe insurance?

(1) General nsurance Company

(2) IRDA
4) FICCI
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(2} New India Assurance Compa-
ny

{3) Oriental Insurance Company

(4) Sahara Life Insurance

{5) Life Insurance Corporation of
india

. As per the news in various finan-

cial newspapers, Larson & Tou-

bro {L & T) is planning to enter

the insurance husiness in Indza.

Otherwise. what is the major

business of L & T. which it is

known for?

(1} Newspaper publications

(2] Media entertainment

{3) Car and Automobile produc-
tion

[4) Textiles

(5) Heavy engineering & con
struction

. A contract that pledges payment

of an agreed upon amount to the

person (or his/her nominec} on

the happening ol an event cov-

cred against” is technically known

as

(1} Death coverage

{2} Life Insurance

(3] Savings lor future

(4} Prevident Fund

{5) None of these

As per the news published in

various newspapers, Life Insur-

ance policies may become paper-

less in the near [uture. This

means

(1) LIC will not insure any per-
son hereafler as it has already
reached its peal

2) LIC will not ask for any docu-
ments from a person who
wishes lo purchase an insur-
ance policy

(3) All policy related documenis
and policy certificates will
henceforth be availabie in elec:
ironle form and not in their
present physical form and not
in their present physical form

(1] LIC henceforth will not enter-
tain any claim or vomplaint in
written form or on paper.
Things shouid be in electron-
icmode only

{5) None of these

. IriInsurance policies we always

find a date which is “Dale of Ma-

turity”. Whalt does it mean?

(1} This is the date on which the
policy was sold o the cusiom-
T/ person insured.

81

(2) This is Lhe date on which the
policy holder will have to sub-
mit his/her claim secking the
amount of the policy. Other-
wise the company will not
make any payment to him/
her.

(3) This is the date on which the
contract between the person
and Insurance company will
come to an end.

[4) The date on which the insur-
ance company makes the fi-
nal payment to the Insured
person which is normally fif-
teen days after the “payment
due date™.

{5} None ol these

. A= we know, the Government is

paying much attention to “Mtcreo
FFmance" these days, Which of the
following is one of the examples
ol Micro Finance?

(11 Insurance for life

12) investment in Matwal Funds
(3) Sell Help Groups

(4 Letter of Credit

(5) All of these

. Which of the following insuranece

plan is not Jaunched by LIC?

11} Jeevan Chhaya

(2) Life Mahalife Gokl Plan

3} Child Career Plan

(1) Child Fulure Plan

3} Jeevan Saral

Which al the following is/are the

higilights of the Union Budget for

2010-117

{A} Rs.3.000 crores allotted for
agriculture sector

{B} Fertilizer subsidy to be re-
duced

{C) Hope to implement Direct Tax
code from April 2011

{1} Only (A} (2) Only (B)

(3) Only (C}

{4] All (A), {B) and (C)

(51 None of these

Who amongst the following is the

author of the book "The White

Tiger" ?

(1) Arundhati Roy.

(2} V. S. Nalpaul

(3] Kiran Desa;

(4] Vikram Seth

(5] Aravind Adiga

Who amongst the following Is the

. Man Booker Prize winner of 2009

for his/her lifetime achievement?
(1) Alice Munro .

65,

a7.
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(2) Chetan Bhagat
(3} Shobha De

(4) Graham Swift
(5] None of these

« Which of the foillowing is the bes:

description of what insurance is?

{Many times companies also com

municate the same to the person

interested in geiting an insurance

policy}

(1) Insurance = Collgctive hear-
ing of risk

2)Y Insurance = Paying for oth-
er's mistakes

(8} Insurance = Taking from A’ (o
pay &

(4} Insurance = Paying for some-
thirig which will never happen

{5} All of these

Who amongst Lhe following won

OSCAR Award 1or his/her con-

tribution im a iilm in 2009 and

also two Grammy Awards in 2010

for his/her achievements in the

field?

(1) Aamir Khan

(2) Rituparno Ghosh

{3) Deepa Mehta

(4) Mani Ratnam

{3} A. R. Rahman

. As per the announcements

made in the Union Budget for

2010 - 11, public sector banks will

get argund Rs.16,500 crores

from the Government of [ndia.

For what purpose are banks gel-

ting this amount ?

{1]- To strengthen their capital
base -

(2] To provide retirement hene-
fits to their employces

(3] To give the public sector
banks an image make over

(4) All(1), {2) and [3) given abaove

{5} None of these

Who amongst the following Indi-

an players was one of the mem

bers of the team which won the

Australian Open lawn Tennis

Toumament-2010 ?

(1) Leander Paes

{2) Mahesh Bhupati

(3) Sanla Mirza

{4) Sunitha Rao

{5) None of these

Which of the following organisa-

. tions/agencles frame the Mone-

tary and Credil Policy which is
followed by all banks in India ?
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(J) Indian Bank's Apsocisiion

{2} Rescrve Bank ol India

{3] Secaities & Exchange Board
ol India v

4) Government ol"Indi;?g., Lo

(5) None of these

Which of the [ollowing lerms is

used in the game of Cricket ?

(1} Penally stroke

2) Knockout  {3) Buily

(4) Checkmate (5] Silly point.

Which of the following countries

was the hosl ol the SAARC Sum-

miLt2oin?

(1) Bangladesh

{2) Nepat

{3) India and Bhulan

(3! None of these _

Wha amongst the [ollowing is not

a winner of the "Padmashri

Award” given away in 2010 ?

(1) Ulhas Kashalkar

(2) Saif Al Khan

(3) Rekha

{4) Lalit Moct

{5) Raghunath Panigrahi

Which ol the following terms is

NOT used in the world of finance,

. banking and insurance ?

73.

74.

75.

(1) Devaluation

(2) Amniesty

(3) Hard currency

{4 Preference share

(5) Sinking fund

Who amongsi Lthe following is NOT

amongst the winners of the 56th
Natlonal Film Awards 2

(1) Shreya Ghosal

(2) Privarka Chopra

(3) Hawrituaan

(4} Shilpa Shelly

(5) Arjun Rampal

The Indira Gandhi Peace Prize [op
2009 was given to the

(1) President of Nepal

(2} Pritnc Minister of Nepal

(3) President of Afghanistan,

(4) Prime Minister of Bangladesh
(B) None & theas

Which ol the [oliowing awards is
given for excellence in the fleld
of Sporls?

{1} Grianpith Award

(2) Bharat Raina

{21 Arjuna Award

{4) Kalidas Samman

13) Nong of these

ENGLISH LANGUAGE

Directions (76-80) : In each ques-
tion a sentence with two words/gronp
of words prinied in bold type are giv-
ctr. One of them or both of them may
have a certain errer. You have to find
out the correct word/group of words
from among Lhe four choices given be-

‘low each sentence to replace the in-

correct words/group of words and
make the senience grammalically cor-
rect and meaningful. If the sentence is

qeorrect as ilis mark {5) i.e. 'No corree-

Aion required’ as your answer.,
- 78. RBI has asked banks that dis-
close the lees and commissions
they have camed through the sell
of life insurance policies.
{1) disclosure - selling
{2 disclosed — sell
{3 to disclose - sale
{4) ean disclose - sales
{B] No correction reguired
Our Development Officer is very
encourage and helps me dowhat-
ever ig necessity o achieve ray
goals.,
(1) encouraging — necessary
(2) encouraged - necessarily
(3] encourages - necessary
(4] encouraging - necessilies
(5} No correction reguired
According to experts, the Indlan
banking systein is better that of
every developed countries.
(1) very good — any
{2 best - much
(3) more better - all
{4) betier than -- many
(5) No correction required
People chould be buying health
insurdance at a young age and
maintains it for a lUfctime,
(1) be bought - maintained
(2) buy - maintain
(3) have lhought —be maintaining
(4) not lzuy — will maintair
(5) No correction required
. Life iInsurance companies have
appointed around 13 lalkh agents
during 2008-04 despite the re-
cession.
(1) nearly - because
(2] aboul - inspite
{3) approximale - on account
{(4) alinost —In
{3 No correction required

78.

9.

Directions (81-90}: Read the
[olowing passage carefully and answer
the questions given below it Corinis
words/phrases are printed i bold 1o
help you locate them while answering
some of the questions.

Most of the world's heaithcare is
financed directly hy governments, hul.
privale Insurance, which now/makes
up nearly a fifth of the tolal. looks set
for a state- sponscred hoom in the hope
of solving problems in national systems
of healthcare which include inadequate
access 16 care and soaring costs.

11 mast countries stats-linanced
healtheare is not available to all. so
governmentswarit private insurance to
be expanded fo cover evervone. The
maost prominent eflort is underway in
America, where about 47 million lack
health insurance of any kind. This ef-
fort is similar to reforms undertaken
over the past decade in the Nether-
lands and Swilzerland. To ensure eq-
uitable access, both countries lorhid
private insurers from discriminating
against applicanis because thev are in
poor health or at high risk of faliing ill.
This practice is known as “leimon drop-
ping”. A Llighily regulated cxpansion of
private insurance-in elfeel lurning
health insurance into a utility - can thus
expand coverage, This is alsoe Likely be
frue in developing courntrics, whose
publiz healtheuare systems are often
honelesshy cversiretched end under-
funded, althzugh because foor coun-
tries cannot afford the subsidies and
regulatory mechanism of ihe rich
world, coverage is likely to he confined
1o the better off.

The secend reascn why govern-
ments have turmed to private insurance
is cost eontrol. The hope vas thatl by
ruthlessly tackling casts and Lromot-
ing efficiency, market-minded insurers
wotld help rein inn risnaway health in-
flalion where governmernits enuld not.
Whatever the role played in g healih
system, private health insurnnce has
added to tolal health expenses. ltis no
coincidence, that the countries with the
biggest private health-insurance sec-
tors-America, France, Germany and -
Switzerland - also have some of the
highest healthcare costs per person.

There are several explanations lor
this. Because a third pariy pays the
hill, the true cost of health services is
rarely made clear {0 them. Nor is the
irue price of insurance, especially if
coverage is provided through an em-
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ployer. This encourages over-insurance
and over-consumption of healthcare.
Another incerntive problera also arises
from lack of transpurent prichitg. Stud-
les have shown that the fees for simi-
lar procedures vary widely among hos-
piials in the same area. Because hos-
pitals and doctors both decide on Lthe
services patients must have and dic-
tate the price of those services, they
often enjoy a pewerful informational
advantage over insurers. Thus doctors
and hospitals have an informational
advantage and an incenlive 1o over-
supply thelr services.

#1. Why do governments look to pri-
vate insurers to reduce Inflation
in the heatthcare system ?

{A} Private health insurance com-
panies are professicnalty man:
aged,

(B) It is in the Interest of the pri-
vate insurers to do so,

{C) Their pricing system does not
reveal the hidden rosts in
healthicare,

(1) Only B (21 Only C

BIOnlyBand C (4 AlA B&C

(5) Mone of these

82. Which of the following Is a prob-
lem facing healthcare system in
devoloping countrics?

(1) Quality healihcare is available
enly in private hospitals.

(2] Constant government interler-
cnice in the system.

{3] Healtheare facililics are insul-
liclent ancl often made avail-
abte only to the rich.

[4) Subsidising healthcare has
resulted in many hospitais
becoming loss making.

(5) Profitable hosplials are forced
to bail out loss making ones.

83. Which ol the following is TRUE
about private heallh insarance?
1A) According Lo prevailing laws,

private health insurers can
cater to only 20 percent of the
populatior.

(B) In western countries private
health insurance s unregulat-
ed by the govermment.

IC) Mosl governments are now
encouraging the participation
of privaie companies in pro-
viding bealthcare.

{11 Only Aand C

2] Only C )

{3}OnlyAand B

(4] AllA, Band C
(5] Nong ol these
+ 84. What Jues the phrase "over con-

sumption of healthcare convey

in the coniexl of the passage?

(1) Peaple opt for unnecessary
medical treatments hecause
they do not have {o pay for it.

(2} Heallhcare consumes too
much of a nation's budget in
rleveloped couniries.

{3} Governmeni{ hospitals often
reconimend UNNECessary pro-
cedures for paticnts.

(4} In developing countries, lhe’

healtheare sysiem cannot

cope willhi the demands of

" their population.

(3) Neone of these

83, Why dit the government of Swit-
zertand prohibil the practice of
lemon dropping 7
{1) To reduce the profits of pri:

vate heaith insurers,

{2) To [acilllate equitabis acoess
to all its citizens.

(3) To prevent discriminalion
against the poor.

{4) To ensure that America’s
healthcarz system problems
do not gecur i theire.

{5) To cui the cost.of healthcare
per person,

88. What is the author's main objec-
tive tn writing the passage?

1) Cenvincing governments to
restrict private sector partici-
pation in health care.
Criticizing developing coun-
tries for the efforts to reform
their health care sysiems.

i3] Pointing out the advantages of
adopting European healtheare
reforms in developing coun-
Lries. _

(4) Elaborating the pros and cons
ol private sector participation
in health insurance.

{5} Stating that state interference
in health insurance is unde-
sirable,

87. What impact has the lack of
transparency in pricing had on
healthcare costs?

(1) Patients have become key
decision makers in the treat-
ment process.

[2) Medical personnel do not get
unilorm incentives.

[3) Insurers and doctors conspire
to charge exorbitant fees for
treatment.

2

[4) Well olf patients often end up
. with huge subsidies from hos-
pitals.

5) Doctors and hospitals have an
inlormational advantage arid
an incentive lo over-supply

. Lheir services
 Directions (88-89) : Which of the
following is most similar in meaning
{o the word giver( in bold 28 used in
the passage?
88. CONFINED

(1) Captured {2) Locked
{3 Detained {4) Limited
(8) Imprisoned

89. COVER
(1} Concerl 2} Hide
(3) Suppress (4! Bury

5] Include
80. Which of ithe fellowing is most
opposite in meaning to the word

CONTROL given in bold as used

inthe passage?

(1) Permit

3] Bupremacy

(5) Increase

Directions {91-95) : Rearrange

the following six sentences (A], [B]. (C),
(D), [E) and {F) in the proper sequence
to form a meaningful paragraph; then
answer the quesliens glven below
them,

A} After all India's expected
equipmentrequirement in the
next five years will be huge,
next only to China's.

{B) Indian cellular equipment
manulacturers however were
not prepared for this surge in
demand,

[C) (n the 1990s cellular wircless
telecom services in India were
liberalized.

(D) To make Indlan telecom man-
ufaclurers more self-sulfi-
cient, concrete steps need to
be taken lo Increase India’s R
& D efforts in telecom.

{E£) This resulled in a decrease in
tarills and the volume of cell
phone subscribers grew phe-
nomenally. ;

(F} Their lack of preparcdness
gave foreign players the op-
portunity {o step in.

(2] Obey
4) Powerless

81. Which of the following will be the
FIFTH sentence after rearrange-
ment?

(ne {2)C
{3 D @ E
B F
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82. Which af the following will be the
LAST (SIXTH) sentence after

rearrangement?

(1 A (2 B
@ c (4) D
15) E

93. Which of the following will be the
FIRST sentence alter rearrange-

ment?

(1) A (2) B
{3) C 4 D
(5) E

84. Which of the following will be the
THIRD sentence after rearrange-

ment ?

1) A (2) B
{3 C (4) D
i5) E

95. Which of the following will be the
SECOND sentence after rear-
rangement ?

(1) B (2 C

(3) D @ E

o)

Directions (86-100) : Pick out
the most elfective word/group of words
from those given to fiil in the blanks to
make the sentence meaningfully com-

plete.
98. RBI is ....... about the fact that
many banks are ....... in mutual
funds.

{1] concerned, investing
{2) worried, shared
(3) sad. credited
{4) interested, stocking
(5] anxious, lending
87. The high ......., of land in cities
is one of the greatest ....... In
providing affordable housing,
{1) worth, boost
(2) quality, decisions
(3) valite, prevention
(4) cost, hindrances
{5} price, trouble
88. Today over ....... a militon farm-
er households in India do not
have ....... to banks.
(1) less, need
{2} more, oppoitunity
(3) half, access
{4) extent. contribution.
(5) partly, approach
98. Nowadays many general insur-
ance products are ......, through
bank ... -
(1) selling, networking
{(2) distributed, branches
{3i disburse, personnel
(4] available, agent
&l loaned, channel

100. To empower those llving in rural

areas NGOs are ....... self help
groups and ....... youth in voca-
t{ional subjects.

(1) realising, working

{2} developing, taught
(3) emerging, instructing
(4) creating, leamning

(5} forming, training

== ANSWERS ==

1.(4) | 2.83) 3.(1) 4. (2)

5.(1)} 6.(9) 7.4) 8.(3)

8.(2) | 10.(5) | 11. {3} ] 12. (1)

13.(1) | 14.(2) | 1B.(4) | 18. (5}

17.(1) | 18.(3) | 19.(@) | 20.(2)

21.(4) | 22.12) | 23.13) | 24. (3

25.(1) | 26. {(4) | 27.(1) | 28.(1)

20.12) [30.3 | 3r.@ | 3z 5

33.(4) | 34.(5) | 36.(3) | 38. (1)

37.(2) | 98. (1) | 39. (5] | 40. &

41.(4) | 42.(2) | 43.(3) | 44, 3

45.(5) | 46.(3) | 47.14) | 48.(2)

48. (5} | 50. (1) SL{1] 32. (2)

53. (5) | B4.{5 | BB.(5) | B6.(2)

57.(3) | &8.(3) | 62.(3) | 60.(2)

61.(3) | 62.5) | 83.(11 | 84.(1}

C65. (8] | 96.(1j | 67.(1) | 68.(2)

69. (5).| 70.(4) | 71.19) | 72. 12
73.14) | 74. @ | 75.(31 | 76. (3}

77.(1)| 78.(4) | 78.(2) | B0O.(5)

B81.5] 1 82.(3] | 83.(2) | 84. (1)

85.(2) | 86. (9 | 87.{5) | B8. {4)

89. (5] | 90.(5) | 91.(3) | 92.(1)

83.(3) | 94.(2) | 95.(4) | 96. (1)

97. (4) | 98.(3) | 99. (2} {100. [3)

=] EXPLANATIONS =
| ¥l l

1.4 2018 1 1419 6 51
T R A NS F E

I |

2. {31 T is father of D, F, K and M
The sex of F is not known. There-
fore, F is son or daughter of T,

3.{(1) 83 5861 4

9 8654 31

8
R

HEM}'TAFWNVPQRDZ

10.

11.
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. (4) [Number|Symbol | Letter

3

. B F—L1 A ,w

NewTloom 38,4

4—=1 sptd 5

M -1 +3 [

g g2 .y

Such combinations are :

IBSE |.| 5@ M H &N ’

. (3) bth tothe left of the 16th from

the left end means 11th from the
left end, i.e. B.

[2) According to question, the new
sequence would be :

J

14t from the right end

5) ﬁ;{t—eri Numbg;:[&l ’-ﬁl"

Such combinatiorts are :

| H3s ” Ks5@ H 182 “ wie E

(11-15):

=< S | @=2
% =S | 8 ==

BIR%T=R<T
TOEK=T<K
K&EM=K>M
M@VvV=Ma2V

Therelore,

R<T<K>Mz2>V



12,

13.

14.

158.
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Couaclusions !
I. M&BT=M«<T: NoiTrug
li. R@K = R<K:True
NLEKS V= K>V:True
[ITWEN=>W=>N
NER=N=<R
Ré&K=RzK
K% F=K<F
Therefore,
WsN=sR2>2K=zF
Conclusions :
I, FhekR= F=R:
I RSW=R>W
HMI.NOK-=>N<K
(NF@M=F>M
MUWbhW=M<W
WES5R=>W=>=R
RGV=2R<¥V
Therelore.
FeoMcW>R<V
Conclusions :
. VeM=V>M: NollTrue
. FSW=F>W: NotTrue
MI.LRG F= R <F:NotTrue
2l BSD=B>D
DE@M=D>M
M%BK=M=x<K
KGR= K<R
Therclore,
BoDM<K<R
Conclusions :
. REM= R>M:True
II. K& D= K>D; Not True
MBS M= B>M:True
MNDW:=2N>W
WHxK=>W=K
KOVes KV
VSFa VT
Therefore,
NeW=K<V:>T
Concluosions :
. KxN=K=N:NatTrue
1. K& N= K< N :Not Trus
K is either smaller than oregual
Lo N. Therefore, either | or IT is
irue.
NMLF& W= [<W: Nol True

Not True
¢ Not True
: Not True

(16-20) :

Sitling arrangeiment

5
TTIT

W {
\

R
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18.

17.

1B8.
18,

(5) Excepi in QWT, in all ethers
the lirst person is silling between
ihe second and the Lhird persons.
In @WT, the second person is
silting belween Lhe fiist and the
third persons.

(1) Q is 10 the immediale lett of
W,

(3) W is second to the lefl of R.
{4} T is fourth to the lefl ol ¥

20. [2) T is sitting to the immediaie
right of W.
(21-25) :
CONDITIONS

Candidate| (| ()| {iii} or {A)) v [+) or (5
Subodh Ix | x |/ < -
Abhiram |/ / [/ -] /- v
Suchitraiv ) « |V S ars =
At AT —| L -
Neha AN 2 v _—-_J
21. (4) Subodh Saha does not satisfy

22.

23.

24,

26.
27

28. (1)

conditions {i) and lii}. Therelors,
he cannot be selected,

(2) Abhiram Gupta does satisly
conditions [#, {{i), {4, {ivi and {B).
Theretore, iris case would Le re-
ferred Lo General Manager ~ Fi-
nance.

[3) Suchiira Kulkarni does sat-
isfy all {he condilions. Therelore,
she can be selected,

{3] Atul Sangama does satisly all
ilie cond.&nons Therelore, hie can
be selected.

(1) NehaJungja does satisfy con-
diticns [i). (. (4), {iv) and {v].
Therefore, her case would he
referred to Exceulive Direcior-
Finance.

{1} 828 % (Bz}a.ﬁ * {8."»]1-4 -5
Szaxﬁu 8"":;’"'
— 52..5+rz.-4¢,:d.‘

= 8 =8"=7=5h8

550% 24
100

124 = ?
100

=762

124 x7?
b e i Y
= 100
124 %7

100

=

=132-76.2=558

,_ B5EX100
= 7= .
Lad-.

=45

(2.}. '? = 24.5 x

29. 454 % 2.5
= 2780.7H
1305 ...
30 3 ?= ok = 3625
; 8242 ..
3L () 7= = 32908
32. (B) 7 =416 x 18 . 2288
= 7488 - 2285 = 5200
675 xHd
P = GNANGE
33, (4] 159 = 364.5
34. {_;) ?=888.88 + 684 48 + 726 66
= 2300.02
.j )60
3) P= =33
A5 A8%x 25
36. (1) Average speed of (he car

37.

39,

Total dlqhnt €

Tlme take

_ [7201
12 )kmph 60 kmph

i2) [Trick_y Approach

Original cost of the lurniture
100 '

— X5 P.
100 + Gain

[1_00

» 10207 '

= s, J R=. 8650

{11 Person's age = 4x years and
50n's 4ge = X years
“Ax+x=2x30

GO
LN s

5
wo5on’s age = 12 years
{5) L‘Trir.‘k Appr::ach
48 x 48 = 4304
419 x 49 = 2401
Required number
= 2401 - 2400 = 1

(w SUT--I}

i 284({{] + 11;0}2 3 1] :
= 2840[{1,1_5)2 . 1}

- Rs. (2840 x 0.3225)
~Rs. 9159

= Bx =60, 12

Cl= P




41.

432,

&

47.

48.

49.
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{4) | Tricky Am?'c;—uclﬂ
Of the given allernalives,
47 x 48 = 2300

s Larger tamber - 49

(2) ‘ Trcky Approach

Let the number be x.
s (31— 111% of x = 360

X% 20 .
*x20 . 566
100
= x= 360 x b= 1800
2 23% of 1800

1800 % 23
____._._>.’\. N 4,1 fa g
100

=

(4) [ Tricky Approach |
- 7 days = 22 dozen apples
22 %336
7
= 1056 dozen apples

o336 days =

« 18] [Tricky Approach |

Totlal mzxcimum aggregate marks
® 4% = 50

2o Tolal maximum aggregate
marks

At
" -"—0:100 - 1250

(5) 1f the CP of 1 walch be Rs, x
and that of 1 locket be Rs. yihen
4x + 2y = (0800

Multiplying both sides by 1.5, we
have

Gx + 3y = 10800 = 1.5

= Rs. 16200

. (3 N is ohvious from the tahle;

{4} Required ratio

= (21 4+ 1.0 (2.6 +24)=4.5
(2} Total mrunher of people’ re-
cruited in organisation T = (2,1 4
2.6+ 284+ 22 + 2.4+ 25 x
100 = 1480

Required
& -239-— # 100 =15
1440

{5) Number of people recruiled in
the yveur 2005 = (2.4 + 1.3+ 1.8
+ 1.6 v 26 +2.4) x 100 = 1210

percentage

. (1) Reqguired percentage increase

- 1.8

=20 el = 4375
15

B3

59.

BZ.

83.

B85.

86,

[ Nationtal Securities Deposito-
ry Lt

(5) Life Insurance Corporalion of
India .

15) Heavy engineering & con-
slruciion

(2) Life Insurance

. (3) All policy related documents

and policy certificates will hence-
forth be available in electronic
lovan and not in their present
physical jorm and nét in their
present physical form

(3) This is Lthe date on which the
contract betwesn the person and
insurance company will come to
‘an endd.

3 Sell lelp Groups

{2) Life Mahalile Gold Plan

. (3] Only Q)
. [5) Alavind Adiga
- (1) Alice Murao

(1) Insurance = Colleclive bear-
ing uf risk

{5} A. R. Rahman

(1} To slrengthen their capiial
hase

(1] Leander Paes

(2] Heserve Bank of India

{5} Silly point

(4} Blian

(1) Lalil. Maodi

(3 Aanesly

(1) Shlipa Shetty

{4} PrimeMinister of Bangladesh
3) Arjurns Award

3 Here, infinliive and noun

should he used, Hence, to dis-
close and sale are appropriate
words to he fitled In.

7 (1) encouraging — necessary
. (M) better than - many

() huy - maintain

. (5] No correction required
. {5} None of these

{:3) Ficaltheare facilities are insuf-
firient nnd oflen made available
enly to the rich.

(2] Only C

{1) People opt for unnecessary
medical treatments because they
da naL have Lo pay for it

(2) To facilitate equilable access
1o all its cilizens.

(4) Elaborating the pros and cons
ol private sector participatlon in
health insurance,

87.

(5) Dogtors and hospilals have an
informatichal advanlage and an
tncentive to over-supply (their
scrvices

(4) ‘The meaning of theword con-

. fine (Verb) as uscd in the pas

sage is @ 1o keep suebuody /
something inside the Lmils of
pariicular activiiy, sukiecl, area,
ete; resiriet.

Lnok at the sentenee :
Thework will not ke confined lo
the Delhl area.

Hence, lhe words confined and
limited are synonymous.

15} The mezning of the word Cov-

er {Vorbl as uscd In the passage
is : inciude, to deal with somc:-
thing.

l.0ok at the sentence :

The lectures covered a lol of
ground.

Hence, the words cover and in-
chude are synonymous.

(5) The meaning of the word con-
trol [Noun) as used in Lthe pas-
sage is 1 the act of reslricting,
limiting or managing sometling.

Look at the sentence :

A new advance has been made

" in 1he control ol malaria.

a1.

88,
100,

Hence, the words control and
increase are anlonymous.

(3D 92. (1) A
(3 C 24.(2) B
4 E

{1) concerned, investing

{4] cost, hindrances

[3) kall, access

(2) distributed, branches
(8) forming, training
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